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Section A: Multiple Choice Questions (10 x 2 marks = 20 marks)

Read each question carefully. For each question, 4 options are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the correct ovals on the Optical
Answer Sheet.

1 In the number 34 618, which digit is in the hundreds place?

(1)1
(2) 4
(3)6
(4)8 ( )

2. Round 29 105 to the nearest ten.

(1) 29 110

(2)29 115

(3)29200

(4) 30 000 ()



3. . - Whatis the value of the digit 0 in 90 2547

(1)0
(2) 1 000

" (3) 10 000
(4) 90 000 | ( )

4. Whatis the quotient when 923 is divided by 57

: (13
(2) 184
(3) 184 R3
4)4615 - ( )

5. Jenny wanted to shade % of the figure below. How many more
squares must she shade?_

(1)1 - .
(2)7 -

(3)3

(4)9 - . - ()

Section B: Open-Ended Questions (25 x 2 marks = 50 marks)
Read the questions carefully and write the correct answer in the blanks provided.
Show all workings clearly.

6. Write down the multiples of 7 which are larger than 30 but smaller than 60.




7.  Find the product of 3 427 and 18. -

8.  Arrange the following fractions from the greatest to the smallest.

e
-ﬁ;-l\l
3t

9.  Complete the following number pattern.

5782, 5785, 5788, , . 5797

10. Arrange the following numbers from greatest to the smallest.

31 456, 13 486, 31 654, 13 846

(greatest) (smallest)



11.  When a number is divide.d by 7, the quotient is 1:058 and the remainder is 4.
What is the number? )

12. List all the factdrs of 39.

13.  Mrs Lim used '?:kg of flour to make some cookies and had —;—kg of flour left.

How much flour did she have at f}rst?

kg




14. Bala bought a pizza. He ate"% of the pizza and gave % of the same pizza to

his brother. What fraction of the pizza d he left?

15.  What is the missing number is the box?

3807+?=I:! R6




Section C: Probiem S,_gms (36 marks)

- Read the following problem sums carefully. You may draw models to help you.
Show all workings clearly and write your answers in the spaces provided. The number
of marks allocated is shown in brackets [ ] at the end of each question.

16. 4 similar dresses and 2 skirts cost $520.
1 dress costs twice as much-as 1 skirt.
How much would 1 dress and 2 skirts cost?

Ans: [4]




17.

Siti mixed %'iiires of orange syrup with % litres of water to make orange juice. She

drank % litres of the orange juice.

a) How much orange juice did Siti make?
b) How much orange juice had she left?

Ans: (a) [2]

(b)____ [2]




18. The sum of three numbers is 6548. The first number is 1099 more t_ha'n";he_
second number. The third number is 788 less than the second number. Find

the value of the second number.

Ans: [4]




19. Tyra bought 36 boxes of lollipops to sell at a éarniVa!. Each box contained 135
lollipops. She had 713 lollipops left at the end of the carnival. How many
lollipops did Tyra sell?

Ans: [4]




20. Betty bought some beads. She used half the number of beads to make a necklace.

She bought another 20 beads and gave 15 beads to her sister. She had 26 beads left.
How many beads did Betty buy at first?

Ans: [4]

- End of Paper -
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Q4

Q5

Q16

Q17




Q18

1099 + 788 + 788 = 2675
| 6548 - 2675 = 3873

3873 +3=1291
1291 + 788 = 2079

Q19

135 x 36 = 4860
4860 —- 713 = 4147

Q20

20-15=5
26-5=21
21+ 21 =42 beads

FAD






